








#include <stdio.h>

int mycal(int n);

int main(void)

{

int num=0;

printf("'n= YEIIM K "),
scanf("%d", &num);
printf("WnZ 0tE2 %d & LICEWn", mycal(num));

return O;
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int mycal(int n)

{
static int enter_count=1;
int count=0, ret=0, i=0;
count = enter_count++;
for(i=0;i<count-1;i++) printf(" "); // @ Xl recursion depth Bt =0{A 7]
printf("mycal() is called %d times. (argument : %d)Wn", count, n);
if(n <= 1) {
ret = 1;
for(i=0;i<count-1;i++) printf(" "); // @ X recursion depth Bt& =0{A 7]
printf("mysql() exit with return value %d (= %d)Wn", ret, n);
} else {
ret = n + mycal(n-1);
for(i=0;i<count-1;i++) printf(" "); // Xl recursion depth TtE =0{2A 7|
printf("mysqgl() exit with return value %d (= %d + %d)¥#n", ret, ret-n, n);
}
return ret;
}
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ne ESHM 2 : 10
mycal() is called 1 times. (argument : 10)
mycal() is called 2 times. (argument : 9)
mycal() is called 3 times. (argument : 8)
mycal() is called 4 times. (argument : 7)
mycal() is called 5 times. (argument : 6)
mycal() is called 6 times. (argument : 5)
mycal() is called 7 times. (argument : 4)
mycal() is called 8 times. (argument : 3)
mycal() is called 9 times. (argument : 2)
mycal() is called 10 times. (argument : 1)
mysql() exit with return value 1 (= 1)
mysql() exit with return value 3 (= 1 + 2)
mysql() exit with return value 6 (= 3 + 3)
mysql() exit with return value 10 (= 6 + 4)
mysql() exit with return value 15 (= 10 + 5)
mysql() exit with return value 21 (= 15 + 6)
mysql() exit with return value 28 (= 21 + 7)
mysql() exit with return value 36 (= 28 + 8)
mysql() exit with return value 45 (= 36 + 9)
mysql() exit with return value 55 (= 45 + 10)
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for(i=0;i<count-T:i++) printf(" ");
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{printf("mycal() is called %d times. (argument : %d)Wn", count, n);
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if(n <= 1) {
ret = 1;
for(i=0;i<count-1;i++) printf(" ");
printf("mysql() exit with return value %d (= %d)¥#n", ret, n);
}
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else {

ret = n + mycal(n-1); for(i=0;i<count-1;i++) printf(" ");
printf("mysql() exit with return value %d (= %d + %d)Wn", ret, ret-n, n);
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#include <stdio.h>
long fib(int n);
int main(){

int n;
scanf("%d", &n);

printf("%1ld\n", fib(n));

return ©;

»
Sib(2)+ fib(1)

) fibl1)+ fib(0)

fib(7)

'

fib(6)+ fib(5)

fib(1)+ fib(0)

L
fib(3)+ fib(2)
| 4
fib(2)+ fib(1)

fib(1)+ f£ib(0)

Sib(1)+ fib(0) fib(1)+ fib(0)
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#include <stdio.h>

void swapl(int a, int b){
int t = a;
a = b;
b = t;

}

void swap2(int* a, int* b){
int t = *a;
*3 = *p:
*b = t;

}

int main(){
int a = 3;
int b 5;
swapl(a, b);
printf(“%d %d\n", a, b);
swap2(&a,&b);
printf(“%d %d\n", a, b);

return ©;
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1 #include <stdio.h>

2 #include <string.h>

3  #include <stdlib.h>

4

5 int main(){

6 char words[5][2@0] = {"programming"”, "practice", "computer", "computer",
"123456"};

7

8 printf("length %1d, %1d\n", strlen(words[©]), strlen(words[1]));

9 printf("compare 1 and 2 : %d\n", strcmp(words[1], wordsmzj));

10 printf(“"compare 2 and 1 : %d\n", strcmp(words[2], words[1]));

11 printf("compare 2 and 3 : %d\n", strcmp(words[2], words[3]));

12 printf("string to long %1d\n", strtol(words[4], NULL ,18));

13 return ©6;

14 }
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game
help

time

apple
linux

money
CERERE
window
windows
computer



| (TEE : hwi.c)

JE 1 #include <stdio.h>

2 #include <string.h>

3

4 void swap(char** , char**);

5 void bubble_sort(char* words[10]);

6

7 = int main(void) {

8 = char* words[18] = {

9 "computer”, "windows", "window", "linux",
18 "apple”, "banana", "time", "help",
11 "game"”, "money"};

12 bubble_sort(words);

13 =  for(int i =©; 1 < 10; i++){
14 printf("%s\n", words[i]);
15 }

16 }

17

18 -1 void swap(char** a, char** b){
19 PR KKK AR K KKK KKK KKK K K
20 /*¥ implement this function */
21}

22

23 E v01d bubble_ sort(char* words[10]){
24 /* implement this function */
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